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MATH FINAL EXAM

Circumference

1. R=Zcm 2. R=5cm
D= cm 2 om b= cm
Circumference s ix D Circumference = nx 0
= C=
C=1256 cm C=314cm

3 Bafem 4. R=10cm
O= cmi B
Circumference=nx D Circumference =t D
C= C=
EE Eﬂ.lﬁ E- Ea'z

5. R=dem
D= ¢m
Circumference=nx D
C=
C=12512

Volume _

1, Su5%5 = 2. High x base x lenght= [

V= V= x5 4|
Ve [ |

3, V=highx3,14xr’

Vi 3,14 X 16cm? 4, ::?ﬂ.:
V= 3,14 X 64 N
V= em?




Addition of polynomials

1. i

(200 w3 10)  (x0-3x"-Sx+Bx+10) {Boc* -2x* #7x") (+3x' +dx* #5x%)
25" wdx’ 3 -x +10 Gx! -2x' +7x

o +3x% Gt Ay -10 It 4l +50"

3. q,

(-126F +11x" -5' +8x")
129 411" 5% +8x*

(+6" -3x' -2n" -Tu%)

(-3x% 45 -7 +4x?)

(+6x" <1x* -9% -3x}

3x? #5% Tt el

3yt 2wt 46! Tx* 1o 498 e -3y
5.

(#2x' +11x" -20x%)  (+4x" 9x' +7x")

+2n' +11x% -200°

Ox' +4x" 47N

Subtraction of polynomials

1. 2. i

(+5x -6n) - (Zn +7x) {4z +7r} - (-B1 -r} (85 +bt}] - (s +8bt)
+5x -6n iz +7r Bs +bt
+7a #In B -r s +8bt
4, 8.

{4b -3a) - {-Bb e) [7sg +1mc) - [+Bsg +mic)

+4b -3a@ Tsg +1mc

-ab +8 858 +mC

-

nn .



Multiplication of monomials

1. 2. 3.

(28t &) (Ta &%) = (') x [5yY) = [-Za' b* e) x [|-5a% B? &)=
4, 3.

(4s* £) x [4s t9) = (Bs* ) x (s 1Y) =

Length of arc

C

= 0,017



